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KING FAID UNIVERSITY OF PETROLEUM AND MINERALS
MATHEMATICAL DEPARTMENT
Math. 002 First Test  Term(042)
Name: ) LD.# See it
QL1 log2=x and log3=y ,thenwrite log 900 + log(2+3)
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Q2. The angle of elevation of the top of an unfinished tower at a point 40 meters from its base is 45,

How much higher must be the tower raused so that the angle of elevation at the same point is 60°,
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Q3. Find the inverse function of f {(x)=In(x +1) —2
We nliady -2

L= A L ey ="

"3(+;¢.

€ o oyl
Xk _

Ci '___b!;L.t)

Y 2
*,‘f Iy = d’_&%.ﬂ I



FROM :

PREP-YEAR MATH PROG Fak MO, @ BESeE386E2979 Oct. 1% 2684 11:19FM P2

- ; - . ) I-x - . . ‘
Q4. Given the function ¢{x )= 27" + &. Find x-intercept, y-intercept, domain, range, and the

asymptote of the graph of g, Sketeh the graph of g, - : . :
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Q5. If the terminal side of angle & in standard position in second quadrant has equation @ .

¥ =-2x  then fin the value of 2sec’ & 3cotd,
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(6. Find the solution set of t}m aquation ’JC.’L e ¢ _.vg o = @

log(d—x)=log(x +8)—log  (2x +13) -
g(#-x)=log(x =8)~log | | ( K qla) G R
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Q7. ¥ind the length of arc of a circle with diameter 18 ¢m and central angle £ = 40°
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Q8.a)Find sec(—210" )+cot[——%—} = §ac, QLQU - Cak ,:-a\*)
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b) Find the supplement angle of 130723'32"
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09S.If coté?:% md sin@ <, find cos@-cscd
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Q10. Show all your work, \\
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